







Op-Amp Basics $V_{out} = A_v(V^+ - V^-)$ Typical A_v: 300 - 1000000 \rightarrow infinite $V^+ + V^- + V^+ + V_{in} + V_{vin} + V_{out} + V_$

Inputs equal (V^+, V^-) , and no connection between them ????

Core Op-Amp Circuits

Voltage follower





 $\left(1 + \frac{R_2}{R_1}\right) \left(\frac{R_2}{R_1 + R_2}\right) V_2(t) = \frac{R_2}{R_1} V_2(t)$

 $V_{out} = \frac{R_2}{R_1} (V_2(t) - V_1(t))$

$$V_{1}(t) + V_{a} + R_{1} + R_{2}$$

$$R_{3} + V_{a} + V$$

Instrumentation Amplifier

Symmetry Point =0V (diff circuit) $V_b - V_a = (V_2 - V_1) \cdot \frac{R_2}{R_2} \left(1 + \frac{2R_2}{R_2} \right)$ $2R_2 \rangle_{(V_1-V)}$

$$V_b - V_a = \left(1 + \frac{2R_2}{R_3}\right)(V_2 - V_1)$$
 $\frac{R_2}{R_1}$





$$\begin{array}{cccc}
 & A_v R_1 & & & R_1 \\
\end{array} & & R_1 = 10k\Omega \\
 & R_2 = 100k\Omega \\
 & & R_2 = 100k\Omega \\
 & & \longrightarrow V_{out} \approx -10(V_2 - V_1)
\end{array}$$



$$\tau \frac{dV}{dt} + V(t) = V_{in}(t)$$
$$s\tau V(s) + V(s) = V_{in}(s)$$
$$V(s) = \frac{1}{s\tau + 1} V_{in}(s)$$

 $V_{in}(t) = u(t) \to V_{in}(s) = \frac{1}{s}$ $V(s) = \frac{1}{s\tau + 1} \frac{1}{s} = \frac{1}{s} - \frac{\tau}{s\tau + 1}$ $V(s) = \frac{1}{s} - \frac{1}{s + 1/\tau}$ $V(t) = u(t) - e^{-t/\tau}u(t) = \left(1 - e^{-t/\tau}\right)$ $V(t \to 0^+) = \lim_{s \to \infty} s\left(\frac{1}{s\tau + 1}\frac{1}{s}\right)$ $=\lim_{s\to\infty}\frac{1}{s\tau+1}=0$ $V(t \to \infty) = \lim_{s \to 0} s\left(\frac{1}{s\tau + 1}\frac{1}{s}\right)$ $=\lim_{s\to 0}\frac{1}{s\tau+1}=1$

$$V_{in}(t) = \sin(\omega t) \qquad s = \sigma + j\omega \to j\omega$$

$$\frac{V(s)}{V_{in}(s)} = \frac{1}{s\tau + 1} \qquad \frac{V(j\omega)}{V_{in}(j\omega)} = \frac{1}{j\omega\tau + 1}$$

$$V_{in}(t) = \frac{1}{\sqrt{1 + \omega^2 \tau^2}} \sin(\omega t - \tan^{-1}(\tau\omega))$$

$$V_{in}(t) = e^{-at/\tau}u(t) \to V_{in}(s) = \frac{1}{s + a/\tau}$$

$$V(s) = \frac{1}{s\tau + 1}\frac{\tau}{s\tau + a}$$

$$V(s) = \frac{\tau}{a - 1}\frac{1}{s\tau + 1} - \frac{\tau}{a - 1}\frac{1}{\tau s + a}$$

$$V(s) = \frac{1}{s\tau + 1}\frac{1}{s\tau + 1} - \frac{1}{s\tau + a}$$

$$V(t) = \frac{1}{a-1} \left(e^{-t/\tau} - e^{-at/\tau} \right) u(t)$$

$$V_{in}(t) = u(t) \rightarrow V_{in}(s) = \frac{1}{s}$$

$$V(s) = \frac{1}{s\tau + 2} \frac{1}{s\tau + 1} \frac{1}{s}$$

$$V(s) = A \frac{\tau}{s\tau + 2} + B \frac{\tau}{s\tau + 1} + C \frac{1}{s}$$

$$V(s) = A \frac{\tau}{s\tau + 2} + B \frac{\tau}{s\tau + 1} + C \frac{1}{s}$$

$$V(s) = \frac{1}{2} \frac{1}{s + 2/\tau} - \frac{1}{s + 1/\tau} + \frac{1}{2} \frac{1}{s}$$

$$V(s) = \frac{1}{2s^2\tau^2 + 3s\tau V(s) + 2V(s) = V_{in}(s)}$$

$$V(s) = \frac{1}{s^2\tau^2 + 3s\tau + 2} V_{in}(s)$$

$$V(s) = \frac{1}{(s\tau + 2)(s\tau + 1)} V_{in}(s)$$

$$\frac{V(s)}{V_{in}(j\omega)} = \frac{1}{(j\omega)^2\tau^2 + 3(j\omega)\tau + 2}$$

$$V_{in}(t) = \frac{1}{((2 - \omega^2\tau^2)^2 + 9\omega^2\tau^2)^{5/2}} \left(\omega t - \tan^{-1}\left(\frac{3\omega\tau}{2 - \omega^2\tau^2}\right)\right)$$



Laplace form of Circuit elements

$$\begin{array}{c}
I & R \\
\hline & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & & \\
 & &$$

$$\begin{array}{c|c} I & C & \underline{Capacitor} \\ \hline + & | \\ V & I = C \frac{dV}{dt} \end{array} \longrightarrow I(s) = s C V(s)$$

Inductor

$$V_{out}(s) = V_{in}(s) \frac{1}{R + 1/sC}$$
$$= V_{in}(s) \frac{1}{1 + sRC}$$
$$= V_{in}(s) \frac{1}{1 + s\tau}$$
$$H(s) = \frac{V_{out}(s)}{V_{in}(s)} = \frac{1}{1 + s\tau}$$



Laplace Transform → Fourier Transform

$$F(s) = \int_{0}^{\infty} f(t)e^{-st}dt \qquad F(j\omega) = \int_{-\infty}^{\infty} f(t)e^{-j\omega t}dt$$
$$s = \sigma + j\omega \qquad \sigma = 0, s \to j\omega \quad j = \sqrt{-1}$$
$$f(t) \to F(s) \quad F(s) \to f(t) \qquad \text{Transform: reversible}$$

1st order example

$$\begin{array}{ccc} & & & & & \\ R & & & & \\ V_{in}(t) & & & \\ & & & \\ &$$

Quantum Physics:

Momentum relates to

Fourier Transform of









$$V_{in}(t) + C_{1} + C_{2} + C_{2} + C_{0ut} + C_{1} + C_{2} + C_{2} + C_{0ut} + C_{1} + C_{2} + C_{2} + C_{0ut} + C_{0ut} + C_{1} + C_{1} + C_{2} + C_{1} + C_{2} + C_{1} + C_{2} + C_{1} + C_{1} + C_{1} + C_{1} + C_{1} + C_{1} + C_{2} + C_{1} +$$

$$\begin{aligned} \underline{Specific \ case}: \ \mathbf{R} &= \mathbf{R}_1 = \mathbf{R}_2, \ \mathbf{C} = \mathbf{C}_1 = \mathbf{C}_2 \quad (\mathbf{Q} = 1/3) \\ \hline \frac{V_{out}}{V_{in}} &= \frac{1}{s^2\tau^2 + 3s\tau + 1} = \frac{1}{(s\tau + 0.382)(s\tau + 2.618)} \quad \tau = RC \\ \mathbf{1V \ step \ input \ (0 \rightarrow 1V)} \qquad V_{out} &= \frac{1}{s(s\tau + 0.382)(s\tau + 2.618)} = \frac{1V}{s} + \frac{B}{s\tau + 0.382} + \frac{C}{s\tau + 2.618} \\ u(t) \longrightarrow \frac{1}{s} \quad V_{in}(s) &= \frac{1V}{s} \qquad B = \frac{1}{s(s\tau + 2.618)} \ \text{for } s\tau = -0.382 \quad C = \frac{1}{s(s\tau + 0.382)} \ \text{for } s\tau = -2.618 \\ V_{out}(s) &= \frac{1V}{s} - \frac{1.171\tau}{s\tau + 0.382} + \frac{0.171\tau}{s\tau + 2.618} \\ V_{out}(t) &= \left(1 - 1.171e^{-0.382t/\tau} + 0.171e^{-2.618t/\tau}\right) u(t) \end{aligned}$$











1st Order Transfer Function

Differential inverting capacitor-based amplifier (R. Harrison: Front-End Neural Amplifier)

